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4 Violin II
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6 Violin 11
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Violin II

230

ST

I

CErEL

—

4

-

of

[ 7]

2L

%

L —

o—'

g =7

244
H #

f

unis

249
H 4

|

a—d\j\/d—

D div

)= 4

>

>=J

253
H#

$A
A3

unis
=

unis
| |

262

cresc poco a poco

a tempo
= cl132

J

A
> _#

#

[15] Molto largamente J = css

)

270

02154



8 Violin 11

) ﬁu T | ! s ey Y ﬁ I ﬁ I
o ###j"'"ﬂ" ] ’ .\____// = — - ~ <g>r> - ~
e f= _ f cresc

290 A A A A div

_# LA A L > ©

o — j ‘[_J—'_qh_['_ I_q-l i O

& — e == mf cresc &

294 — —

ﬁg 2 @ 2 2 p o o s 2@ o o s e o o o
e e e e e e
J VIl | I 4 I I y¥ v ! y v I I 4

J cresc poco a poco

Ve e e e e e s =

Un poco deliberato J = c104

300 unis div unis

T~ | N 4 a4 _Q a A - ==

N - N
Facs e i B
6 6 6 6 2 1 Jf—
Jr
304 div °
P N ezt f
i —_ 7 | =

ANIY4 1 | | _~"1] |
J L E— 7 &




Violin II 9
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10 Violin I1
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Violin II 11
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12 Violin II
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Violin II 13
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14 Violin IT
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Violin I 15
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16 Violin 11
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Violin II 17
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